2
s +x—-6 .
. lim & TX=0 4

. 3
Wz ®0 ©1 O3

(E) nonexistent

2. If f(x)=% —x*+x—1, then f'(2) =
(A) 10 ® 9 (&N ™) 5

2 )
s X .
3. lim is
x—01—cosx

(A) -2 B) 0 O 1 (D) 2

(E) nonexistent
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5. The figure above shows the graph of the function f. Which of the following statements are true?

wo ®: ©F o1

L tim f(x)=f(2)

=2
I lim f(x)= lim f(x)
x—>6" $x—6"

W lim £(x) = £(6)

(A) I only

(B) II only

(C) Tand IT only
(D) IT and 1T only
(B) I, T, and III

(E) infinite



(x —2)*(x +3)

9. Let f be the function given by f(x) = m For which of the following values of x is f not

continuous?

(A) -3 and -1 only
®B) -3, -1, and2
(C) —1 omly

(D) -1 and 2 only
(E) 2 only

L f( =2
B Inx
oL f(x)=2—

€
(A) 1only
(B) I only
(C) 111 only
(D) Iand II only

(E) Iand I only

. In(bx+1) _

14. If a and b are positive constants, then lim

x—>o0 1n(ax2 + 3) N

(A) 0 ®) 3 © Zab ®) 2 (B) oo




16. lim ————Ix——3| is
=37 x—3

(A) 3 ®B) -1 1 D) 3

(E) nonexistent

arcsin(a + h) — arcsin(a)

17. 1If }lti_r)% h = 2, which of the following could be the value of a ?
B 5
w2 ®2 o8 o; 62

)=

23. If f is the function defined above, then f (-1)

3x+5 whenx<-1

—x*+3 when x> -1

is

(A) -3 ®B) 2 © 2 ®) 3 (E) nonexistent

24. Let f be the function defined by f (x) =

(3x +8)(5 — 4x)

the graph of f?
(A) y=-6
Bly=—
sk
®) y=0
®) y=§

(2x +1)°

. Which of the following is a horizontal asymptote to




6. 1m 223y
23 X3

A 3 B) -1 01 (D) 3 (E) nonexistent

arcsin(a + k) — arcsin(a)

17. If %i_% A = 2, which of the following could be the value of a ?
2 V3 1
@ 5 ®) 5~ © 3 ®) 7 (B) 2

3x+5 whenx<-1

=1

—x% +3 when x > -1

23. If f is the function defined above, then f ‘(-1) is
(A) 3 B) 2 ) 2 ®) 3 (E) nonexistent

24. Let f be the function defined by f(x) = (3x +8)(5 - 4x)

. Which of the following is a horizontal asymptote to

(2x +1)
the graph of f?
A) y=-6
B} y==3
© y=-3
®) y=0

® y=3




o

0 a .
84. The graph of a function f is shown in the figure above. Which of the following statements is true?
&) fla)=2
(B) f iscontinuous at x = a.
(©) lim f(x)=1
x—a
(D) lim f(x) =2
x—a

(E) lim f(x) does not exist.
x—>a




